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@, © 2709 G| & Zol7t B2 Aol 4o 2 A¥EY, O
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@ 69cm @ 87cm ®)}116 cm

@ 145cm ® 1455cm

B

QY #7172 22 K& 58.5(cm)
O2 F71A] F& HE: 58.5+2-0.25 = 29.25-0.25 = 29(cm)
O H H&E: © A4 0.75
©9 717 g2 FE: © AA9 (1-0.75) = © HA|9] 0.25
© AAIx0.25 = 29
© AA =29 +0.25

=116(cm)
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@® 200 cm? @)190 cm? ® 180 cm?

3t R AE 7 1em? AW mopo] AR g utE 28w
Ao, F&mA 9 7t2, N2, ol Z+2t 5

Yyt

(ASsHA L] 24 ol)

= (5x5)x24+(5+5+5+5)x7

= 50+ 20 X 7 = 50 + 140 = 190( cm?)




@ 258¢cm? @ 426cm® ® 684cm?

@ 942cm? ® 1200cm?

B

(A&AH 9] Bul)— (2] 22] Lol7} sem 1 97152
=10x10Xx12-5x5x3.14x 12

= 1200 — 942

= 258(cm?)
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